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[Fxare mE | )
[REHARREFFARL T | :
_ (setqa0(/ (car L) 2)); L
[RENGAEFGATE: |
| .
ECEE i (=AqL (car L)) -
i (1 g 4 1A (setq c1 (polar cO( - (/ pi 2) a0) (/ D2
2))) :co ,D2 -
| EW#?WTJD@M‘M | cl 1
tq c2 | 0 /| pi 2) a0) (/ D2
BRI T B (5210 ¢2 (polar 0. {+ (/- pi 2) 20) {
2))) ;c2 2
(command "ard’ c1"E' c2"d' (" 2(" a0
A2 L BE =Y k))) ;a0 12k
= 57.3
(wmmand" di m" n ang" C2C1C3" n mnn C4" n
"exit") ;
[ AHELFEHERR | (setqccl)
* a b o)
| EdEER | -
B 73 (while (not (null L))) ; L
i T R, ;
(setqcl c2)

(1) :
ai(].SiSS) aj
kW,
ai 4T Dg
ki ——
W, — ,mm;
Do mm
5
@ ya<a,
i=5 5
b:(ZT-‘Za;)/5; _Zai
>t ,

(setqb(+ ba))

(setq c2 (polar cO(+ (/ pi 2) b) (/ D1
2))) ;D1 1/2

(setq c3(polar cO(+ (/ pi 2) (- b(/ a2)))
(/ D1 4)))

(setq c4(polar cO(+ (/ pi 2) (- b(/ a2)))
(/ D1 4)))

(command "lin€" cO c2") ;

(mmmand" di m"" angﬂczclcgﬂﬂ ""C4""
"exit") ; cl «¢c2
103 ,C4

(setg c2(polar cO(+ (/ pi 2) b) (/ D22)))
(command"ard’ c1"E' c2"d' ("ak));

(setqcl c2)
(setq a0 (car L))



(setq b(+ bao))

(setq L (cdrL))

(setq c2 (polar cO (+ (/ pi 2) b) (/ D1
2)))

(setqc3 (polar cO(+ (/ pi 2) (- b(/ a0
2))) (/1 D13)))

(setqcd (polar cO(+ (/ pi 2) (- b(/ a0
2))) (/1 D13)))

(command "ling’ cO c2™)

(command” dim”""ang”c2cl1c3"" ""c4""
"exit")

(setq c2(polar cO(+ (/ pi 2) b) (/ D2 2)))

(command "arc’ c1"E' c2"d' (a0 k)) ;

) ;

(command"ard’ c2"E' c"d' ("ak)) ;
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